6.1a Equation of a Line in Slope y-
Intercept Form

Example 1: Complete the following chart Y=mx +h
l/l‘ le—l‘/d'
ope

Equation Slope y-intercept
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Example 2: Identify the slope and y-intercept of each line
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vA Slope: to find the slope use two points on the line
- ' . ' /; and the formula m=% 0Rm=g=%
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y-intercept: you can find the y-intercept by looking at the graph and checking
where the line crosses the y-axis. (Whenx = 0,y =7?)

Slope: ™ = % y-intercept: | - —S

Equation of the line: 5 = % X - 5

b) Slope: to find the slope use two points on the line

rise A —
and the formula m = "¢ QR m = ¥ = 2271
run Ax X2—X1
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y-intercept: you can find the y-intercept by looking at the graph and checking
where the line crosses the y-axis. (Whenx = 0,y =?7)

Slope: m: __a y-intercept: |, - 3

Equation of the line: 3 = '9\7( "'3
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Slope: to find the slope use two points on the line

rise A —
and the formula m = "% QR m == =221
run Ax X2—X1
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y-intercept: you can find the y-intercept by looking at the graph and checking
where the line crosses the y-axis. (Whenx = 0,y =7?)

Slope: O

Equation of the line: Lj': O%“‘/ — 3 z L‘][

y-intercept: Lf

Note: all horizontal lines have a slope of § 2 and an equation of the

form % = IQ , where b is the U —3n+cr(970f.

d)

Slope: to find the slope use two points on the line
2 and the formula m=%0Rm=%=%
K QL = 3-
Roiak 1+ (2, 3) m=3
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y-intercept: you can find the y-intercept by looking at the graph and checking
where the line crosses the y-axis.

Note: All vertical lines have an uno{CFME’d

Slope: u(\Ol@;Fir\QD{.

Equation of the line: x = 9\

y-intercept: noNE_

the form _ =

slope and an equation of

, Where a is the x—i[ﬂfccggl: .



Example 3: Interpreting a Linear Relation

dA | .
\4'6"'\\' Tracy's Walk

Distance (m)
- g WA WU

123456780910 1
Time (s)

o

Identify the slope and the vertical intercept of the linear relation and explain what
they mean.

- mse
Sl 2 m- -int t: -
ope —__—r\— y-intercep b - 5
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The slope represents Tracy’s _Sfeea( . The negative value means

that her distance from the sensor is _dcg:egs_(eﬂ . Tracy’s

speed toward the sensor was _(). 5 m/s

y-intercept:

The y-intercept of 5 means that Tracy started walking at a

distance of _ 5 MEES _ from the sensor.

Equation of the relation:

Ja%eS



